

## The Hermitian Positive Definite Solutions of the Matrix Equation $X^s + A^* X^{-n} A = P$

Yutian Wang

*School of Science, Shandong University of Technology  
Zibo, 255049, People's Republic of China*

In this paper, the Hermitian positive definite solutions of the matrix equation  $X^s + A^* X^{-n} A = P$  is considered, where  $A$  is an  $m \times m$  nonsingular matrix and  $P$  is an  $m \times m$  Hermite positive definite matrix,  $s$  is a positive real number,  $n$  is a natural number. Necessary and sufficient conditions for the existence of an Hermitian positive definite solution are derived, and an iterative solution is provided.

**Keywords :** Matrix Equation, Hermitian positive Definite Solution, iterative Solution

### Introduction

We consider the matrix equation

$$X^s + A^* X^{-n} A = P \quad (1.1)$$

where  $A$  is an  $m \times m$  nonsingular matrix and  $P$  is an  $m \times m$  Hermite positive definite matrix,  $s$  is a positive real number,  $n$  is a natural number. We mainly discuss the symmetric positive definite solutions of Eq. (1.1).

### Solvability Conditions and Iterative Solution

We consider the following two polynomial equations

$$x^{s+n} - \lambda_{\min}(P)x^n + \lambda_{\max}(A^*A) = 0 \quad (2.1)$$

and

$$x^{s+n} - \lambda_{\max}(P)x^n + \lambda_{\min}(A^*A) = 0 \quad (2.2)$$

$$\text{Let } g(x) = \lambda_{\min}^s(P)x^n - x^{s+n}, \quad \xi_* = \lambda_{\min}^{\frac{1}{s}}(P)\left(\frac{n}{n+s}\right)^{\frac{1}{s}} = \|P^{-1}\|_s^{-1} \left(\frac{n}{n+s}\right)^{\frac{1}{s}},$$

It is easy to verify that the necessary and sufficient condition for the existence of the positive real root of Eq. (2.1) and Eq. (2.2) is

$$\begin{aligned} & \lambda_{\max}(A^*A) < \lambda_{\min}(P)\xi_*^n - \xi_*^{s+n} \\ &= \lambda_{\min}(P)\left[\lambda_{\min}^{\frac{1}{s}}(P)\left(\frac{n}{n+s}\right)^{\frac{1}{s}}\right]^n - \lambda_{\min}^{\frac{s+n}{s}}(P)\left(\frac{n}{n+s}\right)^{\frac{s+n}{s}} \\ &= \lambda_{\min}^{\frac{n+s}{n}}(P)\left[\left(\frac{n}{n+s}\right)^{\frac{n}{n+s}} - \left(\frac{n}{n+s}\right)^{\frac{s+n}{n+s}}\right] \\ &= \lambda_{\min}^{\frac{n+s}{n}}(P)\left(\frac{n}{n+s}\right)^{\frac{n}{n+s}} \frac{s}{n+s} \\ &= \xi_*^{n+s} \frac{1}{n} \frac{s}{n+s} \\ &= \xi_*^{n+s} \frac{s}{n} \end{aligned}$$

Thus, in this subsection we assume that  $A$  satisfies

$$\|A\|^2 \|P^{-1}\|_s^{n+s} \leq \left(\frac{n}{n+s}\right)^{\frac{n}{n+s}} \frac{s}{n+s} \quad (2.3)$$

By (2.3) we know that Eq.(2.1) has two positive real roots  $\alpha_2 < \beta_1$ , Eq.(2.2) has two positive real roots  $\alpha_1 < \beta_2$ . It is easy to prove that,

$$0 < \alpha_1 \leq \alpha_2 < \xi_* < \beta_1 \leq \beta_2$$

**Theorem 2.1:** Suppose that  $A$  and  $P$  satisfies(2.3),  $X$  is the solution of Eq.(1.1). Then

$$\alpha_1 \leq \lambda_{\min}(X) \leq \alpha_2 \text{ or } \beta_1 \leq \lambda_{\min}(X) \leq \beta_2$$

$$\alpha_1 \leq \lambda_{\max}(X) \leq \alpha_2 \text{ or } \beta_1 \leq \lambda_{\max}(X) \leq \beta_2.$$

**Proof:** Suppose  $X$  is the solution of Eq.(1.1), then  $X^s + A^*X^{-n}A = P$ , by Wyle inequation we know that,

$$\lambda_{\min}^s(X) = \lambda_{\min}(P - A^*X^{-n}A) \geq \lambda_{\min}(P) - \lambda_{\max}(A^*X^{-n}A) \geq \lambda_{\min}(P) - \frac{\lambda_{\max}(A^*A)}{\lambda_{\min}^n(X)}.$$

$$\lambda_{\max}^s(X) = \lambda_{\max}(P - A^* X^{-n} A) \leq \lambda_{\max}(P) - \lambda_{\min}(A^* X^{-n} A) \geq \lambda_{\max}(P) - \frac{\lambda_{\min}(A^* A)}{\lambda_{\max}^n(X)}$$

So,  $\lambda_{\min}(X) \geq \beta_1$  or  $\lambda_{\min}(X) \leq \alpha_2$ ;  $\alpha_1 \leq \lambda_{\max}(X) \leq \beta_2$ .

On the other hand,  $X^s + A^* X^{-n} A = P$ , so  $X^n = A(P - X^s)^{-1} A^*$ , then

$$\frac{A^* A}{\lambda_{\min}(P - X^s)} \geq A(P - X^s)^{-1} A^* = X^n \geq \frac{AA^*}{\lambda_{\max}(P - X^s)}$$

thus  $\lambda_{\min}^n(X) \lambda_{\max}(P - X^s) \geq \lambda_{\min}(AA^*)$ ,  $\lambda_{\max}^n(X) \lambda_{\min}(P - X^s) \leq \lambda_{\max}(AA^*)$

by Wyle inequation, we can obtain

$$\lambda_{\max}(P - X^s) \leq \lambda_{\max}(P) - \lambda_{\min}^s(X), \lambda_{\min}(P - X^s) \geq \lambda_{\min}(P) - \lambda_{\max}^s(X)$$

so,  $\lambda_{\max}(P) \lambda_{\min}^n(X) - \lambda_{\min}^{n+s}(X) \geq \lambda_{\min}(AA^*)$ ,  $\lambda_{\min}(P) \lambda_{\max}^n(X) - \lambda_{\max}^{n+s}(X) \leq \lambda_{\max}(AA^*)$

so,  $\alpha_1 \leq \lambda_{\min}(X) \leq \beta_2$ ,  $\lambda_{\max}(X) \geq \beta_1$  or  $\lambda_{\max}(X) \leq \alpha_2$ .

**Remark 2.1:** Suppose that A and P satisfies(2.3), X is the solution of Eq.(1.1), there are no solutions in  $[\alpha_2 I, \beta_1 I]$ .

**Remark 2.2:** Suppose that A and P satisfies(2.3), X is the solution of Eq.(1.1), then

$$X \in [\alpha_1 I, \alpha_2 I] \cup [\beta_1 I, \beta_2 I] \cup \{X^* = X \mid \alpha_1 \leq \lambda_{\min}(P) \leq \alpha_2, \beta_1 \leq \lambda_{\max}(P) \leq \beta_2\}.$$

**Theorem 2.2:** Suppose that A and P satisfies(2.3), We define sequences as the following,

$$\hat{X}_0 = \hat{\gamma} I \in [\alpha_2 I, \beta_1 I], \hat{X}_{k+1} = [A(P - \hat{X}_k^s)^{-1} A^*]^{\frac{1}{n}}, k = 0,1,2...$$

$$\underset{\vee}{X}_0 = \underset{\vee}{\gamma} I \in [0, \alpha_1 I], \underset{\vee}{X}_{k+1} = [A(P - \underset{\vee}{X}_k^s)^{-1} A^*]^{\frac{1}{n}}, k = 0,1,2...$$

the sequences satisfy  $\underset{\vee}{X}_0 \leq \underset{\vee}{X}_1 \leq \dots \leq \underset{\vee}{X}_n \leq \dots \leq \underset{\vee}{X} \leq \hat{X} \leq \dots \leq \hat{X}_n \leq \dots \leq \hat{X}_1 \leq \hat{X}_0$ ,

then there is a maximal solution  $\hat{X}$  and a minimal solution  $\underset{\vee}{X}$ ,

$$\hat{X} = \lim_{n \rightarrow \infty} \hat{X}_n, \underset{\vee}{X} = \lim_{n \rightarrow \infty} \underset{\vee}{X}_n.$$

**Proof:** Let  $h(X) = [A(P - X^s)^{-1}A^*]^{\frac{1}{n}}$ ,  $\Phi = [\alpha_1 I, \alpha_2 I]$ , then  $\forall X \in \Phi$ ,  $P - X^s > 0$ .

$$\lambda_{\min} h(X) = \lambda_{\min}^{\frac{1}{n}} [A(P - X^s)^{-1}A^*] \geq \left[ \frac{\lambda_{\min}(AA^*)}{\lambda_{\max}(P) - \alpha_1^s} \right]^{\frac{1}{n}} = \alpha_1.$$

$$\lambda_{\max} h(X) = \lambda_{\max}^{\frac{1}{n}} [A(P - X^s)^{-1}A^*] \leq \left[ \frac{\lambda_{\max}(AA^*)}{\lambda_{\min}(P) - \alpha_2^s} \right]^{\frac{1}{n}} = \alpha_2$$

So,  $h(\Phi) \subset \Phi$ .

$\forall X, Y \in \Phi$ ,  $X > Y$ ,  $h(X) = [A(P - X^s)^{-1}A^*]^{\frac{1}{n}} > [A(P - Y^s)^{-1}A^*]^{\frac{1}{n}} = h(Y)$ , that is to say,  $h(X)$  is monotone increasing.

$$h(\hat{X}_0) = [A(P - \hat{X}_0^s)^{-1}A^*]^{\frac{1}{n}} \leq \left[ \frac{\lambda_{\max}(AA^*)}{\lambda_{\min}(P) - \gamma^s} I \right]^{\frac{1}{n}} \leq \hat{\gamma} I = \hat{X}_0$$

$$h(\underset{\vee}{X}_0) = [A(P - \underset{\vee}{X}_0^s)^{-1}A^*]^{\frac{1}{n}} \leq \left[ \frac{\lambda_{\min}(AA^*)}{\lambda_{\max}(P) - \underset{\vee}{\gamma}^s} I \right]^{\frac{1}{n}} \leq \underset{\vee}{\gamma} I = \underset{\vee}{X}_0$$

It is easy to verify the sequences  $\{\hat{X}_n\}$ ,  $\{\underset{\vee}{X}_n\}$  are convergent,

$$\hat{X} = \lim_{n \rightarrow \infty} \hat{X}_n, \quad \underset{\vee}{X} = \lim_{n \rightarrow \infty} \underset{\vee}{X}_n.$$

Collary. Suppose that A and P satisfies(2.3), X is the solution of Eq.(1.1).If

$X \in [\alpha_1 I, \alpha_2 I]$ , then

$$\underset{\vee}{X} \leq X \leq \hat{X}.$$

## References

- [1] X. Duan, A. Liao, On the existence of Hermitian positive definite solutions of the matrix equation  $Xs + A^*X - tA = Q$ , Linear Algebra Appl. 429 (2008) 673–687.
- [2] S.M. El-Sayed, A.M. Al-Dbiban, On positive definite solutions of the nonlinear matrix equations  $X + A^*X - nA = I$ , Appl. Math.Comput. 151 (2004) 533–541
- [3] V.I. Hasanov, I.G. Ivanov, Solutions and perturbation estimates for the matrix equations  $X \pm A^*X - nA = Q$ , Appl. Math.Comput. 156 (2004) 513–525.

- [4] I.G. Ivanov, V.I. Hasanov, B.V. Minchev, On matrix equations  $X \pm A^*X - 2A = I$ , *Linear Algebra Appl.* 326 (2001) 27–44.
- [5] I.G. Ivanov, F. Uhlig, Improved methods and starting values to solve the matrix equations  $X \pm A^*X - 1A = I$  iteratively, *Math.Comput.* 74 (2004) 263–278.
- [6] A. Liao, On positive definite solutions of the matrix equation  $X + A.X.nA = I$ , *Numer. Math.: J. Chin.Univ.* 26 (2004) 156.161.
- [7] X. Liu, H. Gao, On the positive definite solutions of the equation  $Xs + A^*XtA = In$ , *Linear Algebra Appl.* 368 (2003) 83.97.
- [8] Y. Yang, The iterative method for solving nonlinear matrix equation  $Xs + A.X.tA = Q$ , *Appl. Math. Comput.* 188 (2007)46.53

